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While studying this topic, tick off each item after you have covered it.








10	Changing State  





Checklist





(





What I should know:


(	In order to change state, from a solid to a�liquid, the substance must be given energy.�This is called latent heat.


(	It takes 340 000 joules to melt 1 kg of ice.�We say the ‘specific latent heat of fusion’�of water is 340 000 J/kg.


(	Energy needed	=	mass   (	 340 000�to melt ice at 0°C





What I should be able to do:


(	Explain the difference between a solid and�a liquid, in terms of particles (atoms or�molecules). (See also pages 17–18, 20.)


(	Describe an experiment to see how much�latent heat is needed to melt some ice.


(	Describe an experiment to find the�melting point of a substance.











(	Describe an experiment to see how much�latent heat is needed to boil some water.








(	It takes 2 300 000 joules to boil 1 kg of�water (at 100°C).�We say the ‘specific latent heat of�vaporisation’ of water is 2 300 000 J/kg.


(	Energy needed	=	mass   (   2 300 000	�to boil water�at 100°C





(	Liquids can change state by evaporating.


(	Evaporation causes cooling.�This is because the hotter (faster) molecules�leave the liquid and the slower (cooler)�ones stay behind.


(	Evaporation is increased if:


the air is dry,


it is warm,


it is windy,


the liquid has a large surface area.





(	Plan an investigation on the factors�affecting evaporation.











(	Explain why evaporation causes cooling�(using the idea of molecules).








(	Explain why salt is put on icy roads in�winter.

















(	Explain the principle of a pressure cooker.








(	Impurities (eg. salt) lower the melting point�(freezing point) of water.


(	Increased pressure lowers the melting point�of water.


(	Impurities (eg. salt) raise the boiling point�of water.


(	Increased pressure raises the boiling�point of water.
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